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QUESTION 1
Which property applies for consumption with planning strategy 40 (planning with final assembly)?

A. Consumption creates a static and binding assignment between the planned independent requirements and the
customer requirements for the entire procurement process.

B. Consumption takes place with the planning material.
C. Consumption can reduce the total originally planned production quantity.
D. Consumption can increase the total originally planned production quantity.

Correct Answer: D

QUESTION 2

Which of the following statements is true for the ATP (available to promise) availability check in SAP ECC that is
triggered from a customer order?

A. The ATP check does not confirm against stocks and receipts, it checks consumption against planning requirements.
B. An availability check by means of ATP creates fixed links between customer orders and their confirmed receipts.

C. The ATP quantity is the quantity still available that can be used to confirm incoming customer orders.

D. If the ATP check establishes non-availability, it checks whether it is still possible to procure or produce in time.

Correct Answer: C

QUESTION 3

Which of the following statements about the SAP Solution Manager listed is correct?

A. Solution Manager is part of the SAP ECC System.

B. Solution Manager is an add-on industry solution.

C. Solution Manager is a stand-alone system that communicates with other systems in a system landscape.
D. Solution Manager is a satellite system in a system landscape.

Correct Answer: C

QUESTION 4
What do you have to consider regarding ATP checks in SAP ECC that are triggered from customer orders?

A. If the ATP check determines non-availability, it then checks in the next step whether timely procurement or production
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is possible.
B. The ATP quantity is the available quantity that can be used to confirm incoming customer orders.
C. An ATP check creates fixed links between customer orders and their confirmed receipts.

D. The ATP check does not take stocks and receipts into account. It checks consumption of planned independent
requirements.

Correct Answer: B

QUESTION 5

When testing requirements planning in plant 1000, you receive the error message displayed below. Large numbers of
materials are already available in plant 1000. As a first step in solving the problem, you activate requirements planning
in the Customizing for plant 1000.

Settings Extras weterm  Hel

| " |

Single-ltem, Multi-Level

Wﬁaquir&ments planning is not active in plant 1000 [+ [fmngg t37tdc00 | INS %

What further tasks do you perform before you can use requirements planning in plant 1000 in SAP ECC?
A. Set up the planning file in Customizing and specify the plant parameters for plant 1000 in Customizing.

B. Set up the planning files in Customizing and specify the plant parameters for plant 1000 in Customizing of the MRP
group.

C. Set up the planning file in Customizing and specify the plant parameters for plant 1000 in the MRP views in material
master.

D. Activate requirements planning in Customizing for MRP areas in plant 1000 and specify the plant parameters for
plant 1000 in the MRP views in material master.

Correct Answer: A
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